&7 , @ %ﬁ Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
5,813 x 10 = 4,007 x 10 =
6, 871 x 100000 = 9, 739 x 100000 =
8,291 x 1000000 = 6, 839 x 1000 =
1, 608 x 1000 = 10, 852 x 1000000 =
3,719 x 10000 = 8,757 x 10 =
9,544 x 1000 = 7,123 x 10 =
10, 483 x 1000000 = 6, 743 x 1000000 =
3,016 x 1000000 = 10,012 x 100000 =
2,531 x 1000 = 8,202 x 1000000 =
10, 718 x 100000 = 3,851 x 1000 =
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Lok R

Multiplica decimales por potencias de diez

Nombre:

5,813 x 10 =158.13

6, 871 x 100000 = 687100

8,291 x 1000000 = 8291000

1, 608 x 1000 = 1608

3,719 x 10000 = 37190

9, 544 x 1000 = 9544

10, 483 x 1000000 = 10483000

3,016 x 1000000 = 3016000

2,531 x 1000 = 2531

10, 718 x 100000 = 1071800

Fecha: Puntuacion:

4,007 x 10 =40.07

9, 739 x 100000 = 973900

6, 839 x 1000 = 6839

10, 852 x 1000000 = 10852000

8,757 x 10 = 87.57

7,123 x 10 = 71.23

6, 743 x 1000000 = 6743000

10,012 x 100000 = 1001200

8,202 x 1000000 = 8202000

3,851 x 1000 = 3851
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